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The question paper is divided into five sections- Section A, Section B, Section C,
Section D and Section E. The question paper has 40 questions in all.

All questions are compulsory; however internal choice is given in some questions.
Attempt any one of them.

Marks are indicated against each question.

Section A (Questions from serial number 1 to 27) has objective questions of 1 mark
each.

Section B (Questions from serial number 28 to 31) are short answer type questions
of 3 marks each. Answer of these questions should not exceed 80 words each.
Section C (Questions from serial number 32 and 35) are long answer type questions
of 4 marks each. Answer of these questions should not exceed 80 words each.
Section D (Questions from serial number 36 to 39) are competency based/source
based/ case based questions, carrying 5 marks each.

(viii) Section E (Question number 40) is a map based question of 5 marks, in which 40.1 is

(ix)

History related map work of 2 marks while 40.2 is Geography related map work of 3
marks.

Separate questions are given for visually impaired student only in lieu of map
based question number 40.
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Section A (Objective Type Questions)
e 6T 1 ¥ 12 dP el f[dded & a3+ DIy |
Choose the correct option in Question 1 to 12.

1 f=foaRed § 9 &9 91 $9F WA 27 1

A. TEAfE &3 B BN vd wEfdd &a9F N T A 2
B. faiiass &= & sielfire &= Wi %el I 2|
C. 7 e fgiiad e o amar 2|
D. §& Jarg i &5d & Ifada Il 2 |
Which among the following is INCORRECT statement?
A. Primary Sector is also known as agriculture and related Sector.
B. Secondary Sector is also known as Industrial Sector.
C. Fishing comes under the Secondary Sector.
D. Banking comes under the Tertiary Sector.
2 frefaRed 5 9 9—41 U9l & §9g (BaH & oY [derg &1 deg 981 1
B Fadl &7
A. AU JUS & oIy HH AT

B. A AGIGY

C. Gars Ry &1 gaern

D. A 3R Bl Ted & |
Which of the following may NOT be a developmental goal for prosperous
farmer in Punjab?

A. Lower support price for his crop

B. Cheap Labour

C. Proper irrigation

D. A and B both are incorrect

3 fa=felRed & & werem el I grior ISR RS Srff® — 2005 1

SECIC RGO

A, a¥ H 100 &l BT IR

B. UTI &5 & fog ISR

C. AT TRHR ISR IUE] HRAM H el Y&l © Al SRISHRIRT |l

DT YTIET |

D. SURIGd |4
Which of the following is True regarding Mahatma Gandhi National Rural
Employment Guarantee Act — 2005?

A. It ensures 100 days jobs.

B. It ensures jobs for rural area.

C. If government fails to provide job then unemployment allowance.

D. All the statements are true.

4 I T &5 & g i BT 91T ST ©, O AT AR S96T faRe /1
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PR B°
A. 3% 98 T8 Bie US Al 2 |
B. S9&! A M T € BT 2 |
C. M & e @ T TR Bl 2 |
D. 9! HF I T |
If big dams are constructed in an area then why do local people resist it?
A. They will be displaced.
B. Their land will be submerged.
C. No source of Earning.
D. All of the above

forelt =1 BT NI o, IS ot o H FafaRad J 9 forey T S Fdbal
STt 87
A. T STTH=AT
B. 3MTefl ST
C. SHHM aTell SIS
D. JUD SIS
Average income of a country is calculated by dividing total income of the
country by which of the following?
A. Total population
B. half population
C. Earning population
D. Adult population
fR1eTT U WRe & SMERYT UGl @ BRI 9RA @ ... I H Ry
Q] &% 999 HF T |
A. faeelt B. RIS C. dferrg D. &xd

............................ has a low Infant Mortality Rate because it has
adequate provision of basic health and educational facilities.

A. Delhi B. Rajasthan C. Tamil Naidu D. Kerala
fERIE TP B o I A S ST 2

A. 3T eFed

B. UA® &b

C. qA® &b

D. Hal &Fd

Secondary Sector is also called as........................ :
A. Manufacturing Sector
B. Primary Sector
C. Tertiary Sector
D. Service Sector

g <9 R SliaeR, WRey iR GRe & ol 9§ 98k A’ld 8, S9..




................ A P wY H ST o1l B |

A. 3 B. famraeia C. fomfia D. SWRIFd
famfrd HH e
El |

A country having high standard of living and a better environment in terms
of health and safety is known as....................... :

A. Under B. Developing C. Developed D. None
developed of the
above
9 f=faRad § | ®IF — AT HIC S Bl Y I&TeR0T &7
A. TR B. A C. WR D. g

Which of the following is an millets?
A. Water Melon B. Rice C. Jowar D. Wheat
10 <9 QU Y U= ¥, 1 UahA QU Y 2 U HheddI(d) 3R AT BRI
(@) | BT DI gfey IR el fdhed BT T BT |
HHeUT (|F): TE T W% B 2 |
PR (F): Ig oNd FJ H 915 Il 2|
fdmey:

A. 9HAAT (M) Ud BRO (H) IAT Fel § Ud BHRU, Ahedl DI Aol

RS & |

B. AT (W) Ud ®RUT (F) I Hal & IR BRU, HHTAT Bl Hal
RAT &I T |

C. HHedT (H) W8l © Ud BRI (&F) TId & |

D. HHeAH (H) TaId & WRg SR (F) el T |
SIEH
fodl U & BT BT 7 dqrsy |
In the question given below, there are two statements marked as Assertion
(A) and Reason (R). Read the statement and choose the correct option:

Assertion (A): Wheat is a Kharif Crop.
Reason (R): It is sown in Winter Season.

Option:
A. Both Assertion (A) and Reason (R) are true and R is the correct
explanation of A.
B. Both Assertion (A) and Reason (R) are true but R is not the correct
explanation of A.
C. Assertion (A) is correct and Reason (R) is Incorrect.
D. Assertion (A) is Incorrect but Reason (R) is correct.
OR
Name any one Rabi crop.




11 [ W BT X M A {9 Q2 F ST 1 57 1
A. T&J 3MbIdT B. 3MR®T c. faga=m™ D. HfFaey

In which country is Jhum farming known as Ray?

A. Central Africa B. America C. Vietnnam D. Mexico

12 WGR gRI FrEfoiad § 9 fhaa! 9o Baai b GRefl Ua &)+ & 1
fore @1 Sl 27

A. 3fferhaH B. 3ff&rhead C. ~gAaH D. g9 #
Gl 44 AT ™ REDE| qA Plg
qd T |
Which one of the following is announced by the government in support
of crop?
A. Maximum B. Maximum C. Minimum D. None
Retail support support of these
Price Price Price
13 SINUE & BA B Hd -7 ST 82 1
A. IR B. fe@ R ¥ C. 3t A D. 3T d
A WRAN] B HEY SH @ " TR &
o e
b &Y

When zaid crops are sown?

A. From B. From C. From D. From
October January to April August to
to April to July September
December
14 TEgE ¥ 3MY T FASI 27 1
What do you understand by Civil War?
15 ST § HIF—AT S TG TUHEID T2 1
ST

JfesTad § DIF— AT SR 8 JTcadeTdh oAT?
Which ethnic class is in minority in Sri Lanka?
OR
Which ethnic class is in minority in Belgium?
16 dfeotad B Mol & M forfay | 1

Name the Capital of Belgium.
17 RISl DI YHATH ISTHTT HINT B 9Tl DA Hidial d &d ukd fbar - 1
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When was an Act passed to recognize Sinhala as the only official language
in Sri Lanka?

XGifhd qeAl BT Hel B arad Dl Ya: foTRay |

T GAl R BEA T4 BT ARTHR T58 TRIHR T ¢ |

Rewrite the statement after correcting underlined facts.

State government has the right to make law on Central List.

Raa Yo & gt oIy |
IRA H o TR P TRER B |

Fill in the Blank.

Thereare .................... levels of government in India.
JSg YIS JMART &l TS &e b 737?

When was the State Reorganisation Commission formed?

IR AfAe a1 radl rqgal # fava wrmsil & wnfier far T €72
How many Languages are included in the Eighth Scheduled in the Indian
Constitution?

O B wd AT B 787

When was the Vienna Congress organised?

A AU Y U #, 1 urgme QU Y € U AhdHI(H) 3R TR BRI
(@) | Ul BT Ulgy IR FEI fdwed BT T BT |

IHea T (F): EATE BT Ugell W IHedfda 1789 H WiAR{T Hifad &
&S |

SR (F): B BT A IoHAdD AR Faen—eh gaerd gg ford
AT Ioias 4 Mdhad: BT ARTRST & g § gWiNd 89 |
faweu:

A. HHSIAT (F) Td HRY (B) QM1 T8l & Ud BRY, Fheddl & Hal

IRAT 2 |

B. Whed T (W) Ud BRUT () QI Fel & U] BNV, HBIAT dI Hal
RG] TEl T |
C. APhedT (W) W8l & Ud BRT (F) TeId & |

D. HhedAT () Teld & IR BRI (F) Tl 2 |

In the question given below, there are two statements marked as
Assertion (A) and Reason (R). Read the statements and choose the
correct option:

Assertion (A): The first clear expression of nationalism came with
the French Revolution in 1789.

[E

[E
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Reason (R): The political and constitutional changes that came in the
wake of the French Revolution led to the transfer of sovereignty from
the monarchy to a body of French citizens.

Option

A. Both Assertion (A) and Reason (R) are true and R is the correct
explanation of A.

B. Both Assertion (A) and Reason (R) are true but R is not the correct
explanation of A.

C. Assertion (A) is correct and Reason (R) is Incorrect.

D. Assertion (A) is Incorrect but Reason (R) is correct.

feTe Yae wd AN fbar 1ar?
When was the Rowllat Act implemented?
YR AT BT gen &3 fha- = mar?
Who had drawn the image of Bharat Mata for the first time?
Rieh we ¥ M Fa7 A 27?
What do you understand by Silk Route?
S IS UUTEll | 3T RIT FHASI &P
What do you understand by Brenton Wood system?
GuE g (oTg I 9eH)
Section B (Short Answer type Questions)
JNIEANT 3TQIel I 3RW fhar Ta1? D YHTal BT goie Ity |
ST
AATY A JATQIeTd FT 3RA fhAT TA1? IHD JTdl BT Fuid BIfY |
Why was Non-Cooperation movement started? Describe its impacts.
OR
Why was the Civil Disobedience movement started? Describe its impacts.
IRA ¥ S B HHI BT HROT garsy |
Explain the reasons of Water Scarcity in India.
MRA ¥ Hearg 39 i T A9qd 81 @1 &' doH & qHeH | aa
AT |

The federalism is in India is getting strong day by day. Support the statement

with reason.
HST &3 B fIRIvdArstl &1 quie HIFY |

ST
IS &Fd @ faRIvarsil &1 quid B |
Describe the features of Organized Sector.

OR
Describe the features of Unorganized Sector.

Qug T (e — ST u3H)
Section C ( Long Answer Type Questions)

STHAT & TdHIhRT BT UfhAT BT guie I |

3X4=12

w

w

4X4=16
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34T
STl ® THIBRUT BT UfthaT BT gui HIRY |
Describe the process of Unification of Germany.

OR
Describe the process of Unification of Italy.
STAlg JaT Bl ARyl T quie HIfTY |

SICI
BT Ja&T DI fARIEarRIl BT quie BT |
Describe the features of Alluvial Soil.

OR

Describe the features of Black soil.
afesrad < fafdedr o1 TS fhar|” word &1 [agelyor B |

Belgium accommodates the diversity. Analyse the statement.

T 1 aR9TT B |

Define the term Development.

Grs T (A /D9 — ™R 7eH)
Section D ( Source/Case —Based Questions)

&1 15 wrolt Y ufew iR i faw e uyl & IR difore-

SRR H &1 1 fg R (% H)
TF—> 1972-73 2011-12
& |
T e 74 49
IEGIRE? 11 24
gﬁﬁ?ﬁﬁ 15 27
36.1 99 1972-73 T {59 &7 o1 IR § FReRY o1 ufa=rd T2 3ifie g2
A TUNE &F%
B. fgdlus &=
C. qda® &%
D. gHI C 3R B

36.2 a8 2011-12 H {5 &7 Pt AR # R &1 ufawd 9ad &4 82
A TUf® &F%

36.3 1972-73 B g1 H 2011-12 H fovy &=es | fRRIGRT 1 Ufa=rd e T
A. T &
B. qI® &%
c. fgdta® &a@

5x4=20

1x5=5




D. 90 I HIS g
36.4 fg & T fgRaRl &1 ufa=id 1972-73 &1 ga-T | 2011-12 T A 9 3ifddh d¢ T
?

. qAAS &Fd
fgdiae® &
i &b
. IR gt
36.52011-12 % SRM 5T &% 3 $& ASTIR BT T AT T fhar?
A fodos aae
B. UIA® &b
C. qaad &
D. TTH A PIE et
Read the table and answer the questions given below-
Share of Sectors in Employment (in %)

oN® P>

Year— 1972-73 2011-12
Sectors|

Primary 74 49
Secondary 11 24
Tertiary 15 27

36.1Which sector has the highest percentage of share in employment in the year
1972-73?

A. Primary sector

B. Secondary sector

C. Tertiary sector

D. Both B and C
36.2 Which sector has lowest percentage of share in employment in the year 2011-
12?

A. Primary sector

B. Secondary sector

C. Tertiary sector

D. Data is insufficient

36.3 In which sector the percentage of share decreased in 2011-12 as compared to
1972-737

A. Primary sector

B. Tertiary sector

C. Secondary sector

D. None of these

36.4 In which sector percentage of share increased by more than double in 2011-
12 as compared to 1972-73?

A. Tertiary sector

B. Secondary sector
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C. Primary sector
D. All of these

36.5 Which sector provided almost half of the total employment during 2011-12?
A. Secondary
B. Primary
C. Tertiary
D. None of these

fau 7T ey Y ufew ok e faw Tw s & SR difvre-
Toige TR’ fay Bt dgaiiF 3= ofid uRaSHIs & ¥ U § iR Sqd! 3311 1973 H g3l
STY ER&U] H T Tebe Uk Sfd ! - &1 Uarg el ©, g S9bT 3220 §gd o9
PR & Sidelid B! Ht TAMT g1 ITRIEUS H HRec AP IJ&AM, UHH §7ad H Yaxa
IS IIF, I YW H Fiydg I IF, IORE H GRIBT 99 Wil ugfasR
(sanctuary), 3HH H A9 919 ﬁ?:la“ (reserve) 3R A H IR 919 ﬁaa‘ (reserve) HRd A
ST TRE(UT TR &b IS8R B 1
37.1 UISiae TSR’ $i YB3 e &1 157

A. 1970

B. 1973

C. 1975

D. 1960
37.2 YRd H 919 Reid &1 e faai g7-

A. 56

B. 65

C. 39

D. 11
37.3 Bldc M Ul fhyg g § YT 87
A. feArd uew
B. Rifeww
C. Hled
D. IS
37.4 e H TR a9 Red &1 1 &-
A SUTTG
B. UfaR
C. gexad
D. AFY
37.5 ISR DT IRIPT TIoNT HHIRTY TH URIG oo g-
A et Rerd
B. e fed
C. R frord
D. 19 fYerd

Read the passage and answer the questions given below-

“Project Tiger”, one of the well publicized wildlife campaigns in the world, was launched
in 1973. Tiger conservation has been viewed not only as an effort to save an endangered
species, but with equal importance as a means of preserving biotypes of sizeable
magnitude. Corbett National Park in Uttarakhand, Sunderbans National Park in West
Bengal, Bandhavgarh National Park in Madhya Pradesh, Sariska Wildlife Sanctuary in
Rajasthan, Manas Tiger Reserve in Assam and Periyar Tiger Reserve in Kerala are some
of the tiger reserves of India”.

1x5=5
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37.1 When was Project Tiger launched?
A. 1970
B. 1973
C. 1975
D. 1960
37.2 How many tiger reserves are there in India?
A. 56
B. 65
C. 39
D. 11
37.3 In which state is the Corbett National Park located?
A. Himachal pradesh
B. Sikkim
C. Karnataka
D. Uttarakhand
37.4 The Tiger reserve located in Kerala is-
A. Bandhavgarh
B. Periyar
C. Sunderbans
D. Manas
37.5 Sariska wildlife sanctuary of Rajasthan is a famous-
A. Elephant reserve
B. Rhinoceros reserve
C. Lion reserve
D. Tiger reserve

£ Aot iy afT s A R E et e A

faea = Ao e= it adia wiae § wigenst f de1w (s #6)

El %
FHLHT (I ST 2ferof) 20.2
T 19.6
T TR 6 Ire0Tadl a9l 16.6
=feror uferT 11.7
a1 8.3
I qoF 8.2
EEEIGE 16.6

381U@Hﬂwﬁmaﬂﬁmsﬁwqﬁﬁfﬁawﬁa{%%v

38.3 fa% % fba & 7 e & wiRerell 3 uRaRifid R oiad @ aifte &7

A 2

1x5=5
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38.4 YRAG T9< § Afgar ufaffia &1 ufawd fbar g2
. 202

16.6

8.3

19.6

38.5 FAfafed & & SF 91 HUF 9 57

A. 3R9 B afgarsit &1 ufaffia fay shad ¥ 0 7

B. 3R § Afgensit &1 ufaffia fay o @ o0 71

C. R9 A nfganstt &1 ufaffia fay shaa I H9 Bl

D. Gf&ror ufkrn & afgensit &1 ufaffic fay offvd 9 sifie B

Read the table and answer the questions given below-

Women in National Parliament in different regions of the world (in %)

oNnw»

Regions %
America (North and South) 20.2
Europe 19.6
Sub Sahara Africa 16.6
South Asia 11.7
India 8.3
Arab 8.2
World Average 16.6

38.1Which region has highest percentage of women representation in the National
parliament?

A. India

B. South Asia

C. Americas

D. Europe

38.2 Which region has equal representation of women in National parliament as
the world average?

A. India

B. South Asia

C. America

D. Sub Sahara Africa

38.3 How many regions of the world have more than the world average of women
representation in Parliament?

A2

B.3
C.4
D. 1
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38.4 What is the percentage of women representation in Indian parliament?
A.20.2
B. 16.6
C.83
D. 19.6

38.5 Which of the following statement is true?

A. Representation of women in Arab is lower than the world average.

B. Representation of women in Americas is lower than the world average
C. Representation of women in Europe is lower than the world average

D. Representation of women in South Asia is more than the world average

fou Tu ey #1 ufew sk i Row T ws & IR e (Sl g @ BT )
JATA &t P 3 JEY IR P §gd IR ATl A 4 T U &7 o A e
& ST H I7 Brieyd WR Uge & STe HeigR] ! Ul =reidl oT fob d SRt Il
e ¥ g8l 99 BTAd -Tel ¢ | 73t S8 1 il Ud ®d fRufadl HoR off SR Auig’l &
U BT 3MIPR g HR DI Y 781 U1 58 sTavlg Avel 3 Hi el R &
& U RIPI D g6 FdbTd I8d IR @ YUFT HR sifell T g1 Id T 3R T Helg
Udhe A dl S5 YRT Toll & St &t Sgal A SO QRN 3R TR SR faat &
TIRTH0T FRd §U G 3R AMHEH AT NG & ¢ =0 Wit feg | fAfarg o
HEH & AIAHT Sy &I T a=e Sd! Ad &1 &4 ¢ faar 11 39 3d &1 g
UM g9 & T W) 9 far mar| 396wt ol 9 TXal & Aoigr fow od 31 gt
THR IRATHIRAFAIG AHE U [qaie! 4 (S STHST & 3 T did Jel A S
& RRR W ugar fean & it uRdig soariEl ofik sdifeard giueg & & 24
Heel BT gieiep ol off Febell & | FAFarE SfiR T # 7RigR =e ’foie i URdla
STYATRIT & T8l Uga & a1 AT 3MT% XIS TRl BT & 3aTeRUl ¢ |
39.1%%H§Eﬁa€€ngaaaﬁa%mw-

A.

B. YRATHIRATAIG

c. XA

D. TH A PR Ta!
39.2 geH! T Hal URIE UT?

A. MRd

B. 3ficfer

C. T

D. dfsT

39.3 §fa AT Fardt o1-
A. TSI b1
B. BfFgg &1
C. SHPT BT
D. 1AM &1
39.4 ARMATETT 91 ST AT ST Y-
A. HAYH B T3 YITel!

1x5=5




B. UUI B =18 YuITeh
C. T[CTH Bt A% Yureit
D. THR B} 5 YUITell
39.5 AR # ¥ fham IRampIamaTe &1 Ui, faar
A. did fafer
B. Sid S
C. Sie ATt
D. AISH oI
39.6 AT ASGRl & IR H AT HT & e
A. Sllae Ud BRI Bl HolR TRRefT
B. ST SEBRI BT 4T
C. RBR 4 BT ATBR
D. s | &g T8 |
Read the passage and answer the questions given below- (Attempt any Five)
Nineteenth-century indenture has been described as a ‘new system of slavery’. On
arrival at the plantations, labourers found conditions to be different from what they
had imagined. Living and working conditions were harsh, and there were few legal
rights. But workers discovered their own ways of surviving. Many of them
escaped into the wilds, though if caught they faced severe punishment. Others
developed new forms of individual and collective self expression, blending
different cultural forms, old and new. In Trinidad the annual Muharram procession
was transformed into a riotous carnival called ‘Hosay’ (for Imam Hussain) in
which workers of all races and religions joined. Similarly, the protest religion of
Rastafarianism (made famous by the Jamaican reggae star Bob Marley) is also
said to reflect social and cultural links with Indian migrants to the Caribbean.
‘Chutney music’, popular in Trinidad and Guyana, is another creative
contemporary expression of the post-indenture experience.
39.1 In Trinidad Muharram procession was transformed into-
A. Hosay
B. Rastafarianism
C. Reggae
D. None of these
39.2 Where was Chutney music popular?
A. India
B. Australia
C. Guyana
D. Rawanda
39.3 Bob Marley was the resident of-
A. Uganda
B. Trinidad
C. Jamaica
D. Guyana
39.4 Indentured labour was considered as a -
A. New system of taxation
B. New system of plantation
C. New system of slavery




D. New system of government
39.5 Who among the following made Rastafarianism famous?
A. Bob Willis
B. Bob Dylan
C. Bob Marley
D. Michal Jackson

39.6 Which of the following is not correct regarding indentured labourers?
A. Harsh Condition for living and working.
B. Lack of legal Rights
C. Right to choose government

D. None of these
Qg ©. (AHfT= reka u3+)

Section E ( Map Based Questions)
40.1 AT & U T T T@T AT 9 a7 T A 3T B sifehd FhU T 1 29
FAT TATAT 6T TgA Q0 70 FArTAqrei F Areme a< Hifr)
A. AT T Gl AT ATAT a1 gATHIE gl AT
B. g TATH STgl Mt St 7 et &t @t e arer fhami & oI stire F=mm =m
40.2 ATEA % IHT AW 9 MH{eiad w1 3t=a =gl & germsu- 1X3=3
A. TS atg
B. NS &N ate
C. 9T JaTT AW i
40.1 On the given political outline map of India two places A and B are marked.
Identify these places with the help of given characteristics.
A. The place where Jallianwala Bagh incident occurred.
B. The place where Gandhi Ji started movement for Indigo planters.
40.2 On the same political map of India locate the following-

A. Hirakud Dam
B. Nagarjun Sagar Dam
C. Rana Pratap Sagar Dam

referferd w1 waer greartaa Rt & forg w7 %17 40.1 7 40.2 F T 9%
IERIRIR IS

40.1 39 57 &1 99 fofgw gt Sfeiarar anr gamenie gem oaT |

40.2 39 757 &1 99 forfgw sgt et st ° e it @<t w are et &
IR IR

40.3 39 o7 #7199 forfew S|t gieee aiy #aa gl

40.4 39 =7 FT1 99 orfem St anms ane ater o g

40.5 I T FT A W0 SIEE AT a1 TR 9o oo gl

This question is given only for visually impaired students in lieu of
question no 40.1 and 40.2

40.1 Name the state where Jallianwala Bagh incident occurred.

40.2 Name the state where Gandhi Ji started movement for Indigo planters.
40.3 Name the state where Hirakud Dam is located.

40.4 Name the state where Nagarjun Sagar Dam is located

1X2=2




40.5 Name the state where Rana Pratap Sagar Dam is located.




